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Question Number : 1 Question Type: MCQ

Correct : 1 Wrong: 0.33

AS-18 of the Accounting standard deals with:

Options:

1. ¥ Accounting of investments

2. % Borrowing cost

-

4. ¥ Intangible assets

3. % Discontiming operations

Question Number : 2 Question Type: MCQ

Correct : 1 Wrong: 0.33

Which of the following is not a correct statement?

Options:

1. % Capital account is a nominal account.

~

(RN ]

. % Puilding account is a real account.

2. % Fent paid account is a nominal account.

4. # Accrual concept implies accounting on accrual basis.

Question Number : 3 Question Type: MCQ

Correct : 1 Wrong: 0.33



Which of the following is true?

Options:

1. ¥ Premium received on issue of shares is a revenue receipt.

2. % Capital expenditure {5 an expenditure benefitting future period.

3. ¥ Any expenditure which is unreasonably high is a capital expenditure,

4. ¥ Cartage paid on purchase of a new machine is an example of revenue expenditure.

Question Number : 4 Question Type: MCQ
Correct : 1 Wrong: 0.33

ALtd and B Ltd. go mto hguidation and a new compary 2 Lid. is formed. It 15 a case of
Options:
1. ¥ Absorption

~

1. % External reconstruction

. % Amalgamation

(]

4. % Internal reconstruction

Question Number : 5 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following statements is false?
Options:
1. ¥ Bonus issue is made out of free reserves or securities premium collected in cash only.

~

7. % MNo bonus issue shall be made if the company has not completed 3 years of existence.

-

3. % ADA of the company should provide for bonus issue.

4. % Bonus shares can be issued out of revaluation profit.

Question Number : 6 Question Type: MCQ
Correct : 1 Wrong: 0.33

Contracts made after incorporation but before the grant of certificate of conunencement of business are:
Options:
1. % Provisional Contracts

~

2. # Pre-incorporation contracts
3. % Preliminary contracts

4. % Primary Contracts

Question Number : 7 Question Type: MCQ
Correct: 1 Wrong: 0.33

The error which doesn't affect the trial balance is:
Options:

1. % Error of omission

2. % Error of principle

3. ¥ Totaling error

4. % Error of posting of correct amount

Question Number : 8 Question Type: MCQ
Correct: 1 Wrong: 0.33

In a partnership finm, unless specified to the contrary, the deficiency of an msolvent partner will be borne by the existing partners:

Options:



1. % in their capital ratio

3. % in their profit sharing ratio

3. % equally

4. % [t will not be shared by them.

Question Number : 9 Question Type: MCQ
Correct : 1 Wrong: 0.33

"Cawveat emptor” is a Latin expression which means
Options:

1. ¥ Conditions apply

2. % Subject to exceptions

3. % Let the buyer beware

4. % Subject to prior approval

Question Number : 10 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the given is not disqualified from entering into a contract?
Options:

1. % A physically challenged person

2. % Alien enemy

3. % A foreign diplomat

4. % Aninsolvent person

Question Number : 11 Question Type: MCQ
Correct : 1 Wrong: 0.33

The threatening to conunit any act forbidden by the Indian Penal code or the unlawful detaining or threatening to detain any
property or causing any person to enter into an agresment is called:

Options:
1. % coercion

~

2. % deceive
3. % fraud

4 % epforcement

Question Number : 12 Question Type: MCQ
Correct : 1 Wrong: 0.33

If an employes dies without maling a nomination, his legal heir who is eligible for the payment of gratuity shall apply to the
employer ordinarly within from the date of gratuity become payable to hin

Options:

1. % 00 days
2. % 45 days
3. % 3 months

4. % | year

Question Number : 13 Question Type: MCQ
Correct: 1 Wrong: 0.33

Which of the following statements is false?

Options:



1. # Inanon-hanking company, allocable surplus is equal to 67% of the available surplus.
3. % Woman employee on maternity leave is not eligible for bonus.
3. % A part time employee engaged on regular basis is eligible for bonus.

4. # Salary and wages include dearness allowance for the purpose of bomus calculations.

Question Number : 14 Question Type: MCQ
Correct : 1 Wrong: 0.33
Which of the following is a wagering agreement”?

Options:

1. ¥ Horse race contributions for a value of Rs 500 or more
2. % Laottery

3. % Sale/Purchase of shares or stocles

4. % Insurance

Question Number : 15 Question Type: MCQ

Correct : 1 Wrong: 0.33

A promise to sell a house worth Rs 2, 00,000/- for Bs 50,000/- only. It is:
Options:

1. % a valid contract

2. % avoid contract

3. # anad idem contract

4. #® 3 coercion contract

Question Number : 16 Question Type: MCQ
Correct : 1 Wrong: 0.33

A obtains a housing loan from a banle and B promises to pay the banlk in the event of A failing to repay. It is a contract of
Options:
1. % Indemmnity

1. % Guarantee
3. ¥ Warrantee

. % Liability

I

Question Number : 17 Question Type: MCQ
Correct: 1 Wrong: 0.33

Which of the given is not required to have MOA?
Options:
1. % Public Company

-

2. % Private Company
3. # Government Company

4. % Statutory Corporation

Question Number : 18 Question Type: MCQ
Correct: 1 Wrong: 0.33

After how many vears of its commencement of business can a company issue sweat equity shares?

Options:
1. ¥ 1



L
¥ ®
LA

Question Number : 19 Question Type: MCQ
Correct: 1 Wrong: 0.33

Capital redemption reserve can be used for the issue of
Options:
1. % Fully paid bonus shares

-

2. % Fully paid equity shares
3. % Preference shares

4 # Debentures

Question Number : 20 Question Type: MCQ
Correct: 1 Wrong: 0.33

Chooge the incorrect one.

A dividend can be declared out of .
Options:
1. % the general reserve of the company from the same financial vear

2. % undistributed profits of the previous financial year

. % money provided by central or state government

(W]

I

. % share capital of the company if the profits are not sufficient and a resolution to this effect has been passed in the AGM

Question Number : 21 Question Type: MCQ
Correct: 1 Wrong: 0.33

The doctrine of ultra vires 15 related to the  clause of the memorandwmn of association.
Options:

1. % Liability

2. ¥ Object

3. # Subscription

4. % (Capital

Question Number : 22 Question Type: MCQ
Correct: 1 Wrong: 0.33

In a lsted company with 11 directors, what is the quorum for the board meeting?
Options:

1. % 2 directors

2. % 3 directors

3. ¥ 4 directors

4. ® 5 directors

Question Number : 23 Question Type: MCQ
Correct: 1 Wrong: 0.33

Choose the incorrect one.

An anmual return is required to be certified by a compaty secretary in case of
Options:



1. % Listed company
3. % Company having a paid up share capital of more than or equal to Rs 10 crores

. % Company having a turnover of more than or equal to Rs 25 crores

(]

I

. # Company having a turnover of more than or equal to Rs 50 crores

Question Number : 24 Question Type: MCQ
Correct : 1 Wrong: 0.33
Which of the following is not a right of a sharehiolder?

Options:
1. # Toreceive the company's accounts
2. % Toattend and vote a meetings

3. % To manage company affairs

4. ® Toreceive a dividend declared by the company

Question Number : 25 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the given is not true in respect of Ethics?

Options:

1. % Ethics relates to what is good & bad, moral duty and obligations.

2. % Ethics can usually be expressed as general rules and statements.

3. ® Ethics are accepted because they follow from personally accepted principles.

4. % Fthics are adopted/absorbed by an individual gradually by talding reasonable actions in appropriate situations.

Question Number : 26 Question Type: MCQ
Correct : 1 Wrong: 0.33

Mon-disclosure of negative side effects or potential harm caused by product use falls under the category of
Options:

1. ¥ Relationship with business associates

2. % Conflicts of interest

3. % Fairness and honesty

4. # Communication

Question Number : 27 Question Type: MCQ
Correct: 1 Wrong: 0.33

FEapid advancement in IT industry have led to the problem of e-waste dumping (old computers, hardware, accessories ete.) which
15 a cause of!

Options:

1. ¥ Resource depletion
2. % Land pollution

3. % Air pollution

4. % Water pollution

Question Number : 28 Question Type: MCQ

Correct : 1 Wrong: 0.33

Semantic problems are:

Options:

1. % problems arising from expression or transmission of meaning in communication.



2. % technical problems in a public address system.

# fault in the ultramodern telecommunication system.

L

4. # cuyltural differences.

Question Number : 29 Question Type: MCQ
Correct: 1 Wrong: 0.33

Which of the following is not a characteristics of good oral conununication?
Options:

1. # Use simple language

1. % Be detailed

3. % Assume nothing

4. % Allow time for the recipient to respond

Question Number : 30 Question Type: MCQ
Correct: 1 Wrong: 0.33

Kinesics 15
Options:
1. % Body language

2. * Paralanguage
3. % Artifactual communication

4. % Proxemics/space language

Question Number : 31 Question Type: MCQ
Correct: 1 Wrong: 0.33

Maximum level is defined by:

Re order level + Reorder quantity — (A »x Minimum Reorder period). where A stands for:
Options:

1. % Nagimum consumption

2. Ninimum Consumption

3. % Average consumption

4. # Puffer stock

Question Number : 32 Question Type: MCQ
Correct: 1 Wrong: 0.33

Direct material yield variance is:
Options:

| % Actual cost per unit x (Standard output for actual mix — Actual production)

. % Actual cost per unit x (Actual production — Actual output for standard mix)

5 « Standard cost per unit x (Actual production — Standard output for actual mix)

% Standard cost per unit x (Standard production — Actual production)

I

Question Number : 33 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following is not a method of Job ewaluation?



Options:

1. ¥ Ranling method

2. % Grading method

3. % Point grading method
4. ¢ Dial Time Method

Question Number : 34 Question Type: MCQ
Correct: 1 Wrong: 0.33

A company has a contribution to sale ratio of 40%. [t maintaing a margin of safety of 20%. [fits annual fizzed cost amounts to Bs
24 lakh, what will be the margin of safety?

Options:

1. % 121akh
2% 12518k
3. % 15 lakh
4. % 175 lakh

Question Number : 35 Question Type: MCQ
Correct : 1 Wrong: 0.33

If a particular cost gets affected due to a particular decision taleen, it 15 called:
Options:

1. ¥ Committed cost

3. % Marginal cost

3. ¢ Relevant cost

4. % Incremental cost

Question Number : 36 Question Type: MCQ
Correct : 1 Wrong: 0.33

XYZ Lid introduced 10000 units in the process, out of which 8000 units are completed and 2000 units are in progress on which
labour and overhead cost incuwrred is only 25%. The equivalent production of 2VZ Lid will be;

Options:

1. % 5000

2. % 5500

3. % 0000
4 % o500

Question Number : 37 Question Type: MCQ
Correct: 1 Wrong: 0.33

Break Even Point is:

Options:

| Fixed cost / (Selling Price per unit — Variable cost per unit)
, % Fixed cost/ (Selling price per unit — Fixed cost per unit)

; » Contribution / Fixed cost per unit

w Contribution / Selling price per unit

Question Number : 38 Question Type: MCQ



Correct : 1 Wrong: 0.33
is a tool for reducing the owverall cost of product over its entire life cycle with the help of production, engineering and R & D
Options:
1. % Target costing
2. % Attributable costing
3. #¥ Achievement costing

4. % Committed costing

Question Number : 39 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following is correct?
Options:
1. ¥ The main objective of financial manager is to mazximize the profit.

2. % Noney has time value.

-

3. % A finance manager's concern must he to maintain lquidity rather than profitability.

4. % Profit maximization approach considers the concept of time value of money.

Question Number : 40 Question Type: MCQ
Correct: 1 Wrong: 0.33

Lir. H has to receive Es 20000/- at the begiuung of each year for 5 years. Calculate the present value of the antity due assuming
10% p.a mterest and PVAF (10%, 5) 15 3.791.

Options:

1. % Rs 75820

2. % Rs 68927

3. ¥ Rs 83402

4. % Rs 53032

Question Number : 41 Question Type: MCQ
Correct : 1 Wrong: 0.33

ABC Limited 15sued Es 20,00,000/-, 10% debentures at a discount of 10% . The cost of debt to the company will be:

Options:
1% 175%

1Y 1111%

3. % 1536%

4 % 335%

Question Number : 42 Question Type: MCQ
Correct : 1 Wrong: 0.33

Griven:

males = 2,00,000

Cost of Goods Sold = 1,00,000

Other Operating Ezpenses = 50,000

What will be the Gross Profit Margin?

Options:
1 B 7o

I oY

1 W 50%

# neoox

-
a. 4270



4. % [t cannot be determined.

Question Number : 43 Question Type: MCQ
Correct : 1 Wrong: 0.33

Choose the incorrect one.

Dodigliam and Miller approach of capital structure assumes that
Options:
1. % the Capital markets are imperfect

~

2. % payout ratio is 100%

-

3. % the cut off rate of investment in a firm is the capitalization rate

4. ¥ firms can be grouped into homogeneous risk classes

Question Number : 44 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following 15 a hgudity ratio?
Options:
1. ¥ Return on Equity

~

7. % Return on Investment
3. % Debt-equity ratio
4. % Acid - test ratio

Question Number : 45 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which budget 15 most suitable for a situation where high rate of mflation or major changes m marlet conditions or any other
change is hlely, which can't be quantified with accuracy?

Options:
1. % Zero base budget

-

2. % Performance budget
3. ¥ Rolling budget
4. % Flexible budget

Question Number : 46 Question Type: MCQ
Correct: 1 Wrong: 0.33

Which of the following is incorrect?
Options:
1. % Unigue risk is associated with the finm specific factors.

-

2. % Marlet risk is associated with the economy wide factors.

3. % Portfolio diversification washes away the marleet risk.

I

. # The major risk of a fully diversified portfolio is its marleet risk.

Question Number : 47 Question Type: MCQ
Correct: 1 Wrong: 0.33

Which of the given is not a perquisite defined w's 17(2) of Income Tax Act?
Options:

1. % Ay sum payable by the employer through an approved superannuation fund

2. % Value of any concession in the rent provided by the employer



3. % Value of any benefit granted or provided free of cost or at concessional rates

4. ® Any sum paid by the employer in respect of any obligation which would have been paid by the assesse

Question Number : 48 Question Type: MCQ
Correct: 1 Wrong: 0.33

Which of the given property incomes is chargeable to tax?
Options:

1. #* Income from a farm house

2. % Property income of a trade umion

3. #* Property income of an educational institution

4. % Annual value of the second palace of ex nuler

Question Number : 49 Question Type: MCQ
Correct : 1 Wrong: 0.33

The due date of 1st instalment of advanced tax by assesses other than companies is:
Options:

1. % 15th June

2. % 15th September

3. % 30th June

4. % 15th March

Question Number : 50 Question Type: MCQ
Correct : 1 Wrong: 0.33

For tax deducted at source, which form does an employer issue to its employees?
Options:

1. % Form-20

2. % Form-124

3. ¢ Form-16

4. % Form-164

Question Number : 51 Question Type: MCQ
Correct : 1 Wrong: 0.33

An assesse 15 required to pay advance tax if lus habiity 15 more than:
Options:
1. % Rs 5,000

7 % Rs 12,000
3. % Fg 10,000
4. % R 15,000

Question Number : 52 Question Type: MCQ
Correct : 1 Wrong: 0.33

Deduction in respect of Royalty income of authors under Chapter VI is allowed under Section:
Options:

1. % 80P

2. % 300QB

3. % 30RRB



4. % Z0QRR

Question Number : 53 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the given is subject to service Tax?

Options:

1. ¥ Services provided by small scale service provider

2. Declared services w's 66E

3. % Services utilized for official as well as personal use of a foreign diplomat mission

4. ® Services received by a unit located in special economic Zone (if few conditions are satisfied)

Question Number : 54 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following 1s not a service given in Mega exemption notification?
Options:

1. ¥ Legal services

2. % Renting of immovable property

3. ¢ Construction service to government

4. % Hotel room below Rs 1000/-

Question Number : 55 Question Type: MCQ
Correct : 1 Wrong: 0.33

Tax credit on capital goods may be adjusted over a maximum of:
Options:
1. % 10 Equal Monthly Instalments

2. % 15 Equal Monthly Instalments
3. % 24 Equal Monthly Instalments
4. % 36 Equal Monthly Instalments

Question Number : 56 Question Type: MCQ
Correct : 1 Wrong: 0.33

Under the VAT, the registration of dealer is required to be done if the annual tunover of the business sxceeds
Options:
1. % 2lakh

2% 5 lakh
3. % 3iakh
4 % 10 lakh

Question Number : 57 Question Type: MCQ
Correct : 1 Wrong: 0.33

How many digits does a tax payer' s idenfification munber consist of?
Options:

1. % 10 digits

2% 14 digits

% 11 digits

%12 digits

(]

I



Question Number : 58 Question Type: MCQ
Correct: 1 Wrong: 0.33

2 Ltd consigned 2100 kg of material costing Rs 18000, The direct overheads incwrred were Rs 2000, If loss due to natural
deterioration in quantity 15 100 leg and 1500 kg were sold, what will be the value of stoclk at the end?

Options:

1. ¥ Rs 4742
2. % Rs 5000
3. % Rs 4500
4. % Rs 5714

Question Number : 59 Question Type: MCQ
Correct : 1 Wrong: 0.33

Intrinsic value of shares is based on the:
Options:

1. % Met assets of the company

2. % Marlet Value of the company

3. % Borrowing power of the company

4. % Total asset of the company

Question Number : 60 Question Type: MCQ
Correct : 1 Wrong: 0.33

Interest on calls in advance paid and calls in arrear charged by a company is:
Options:

1. ¥ (% & 5% p.a. respectively

2. % 5% & 6% p.a. respectively

3. % 79% & 3% p.a. respectively

4. % 3% & 7% p.a. respectively

Question Number : 61 Question Type: MCQ
Correct : 1 Wrong: 0.33

The discount allowed on re-issue of forfeited shares is debited to:
Options:
1. ® Discount on re-issue of shares account

-

2. % Profit and loss account

# Share premium account

L

4. % Forfeited shares account

Question Number : 62 Question Type: MCQ
Correct: 1 Wrong: 0.33

Preparation of consclidated statement as per AS-21 is
Options:
1. % QOptional

2. % Nandatory for listed companies
3. % Nandatory for Pvt. Ltd.
4. % Mandatory for Partnership firm

Question Number : 63 Question Type: MCQ



Correct : 1 Wrong: 0.33
Which of the following is not correct?

Options:
1. ¥ Auditor's lien on his client's books and record is not unconditional
2. % Components of Audit risk doesn't include sampling rislk.

3. % As per SA-200A, one of the objectives of the audit is to detect fraud.

4. % Government companies are also to be considered for the ceiling on number of audits.

Question Number : 64 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following is correct?
Options:
1. % Audit procedure and audit techniques are not one and the same thing,

2. % Procedural error arises as a result of transactions having been recorded in a fundamentally incorrect manner.

-

3. % Interest accrued but not due on secured loans is required to be shown under appropriate sub heads under the head “Secured
loans".

4. % An auditor can be appointed as first auditor of a newly formed company simply because his name has been stated in the
articles of association.

Question Number : 65 Question Type: MCQ
Correct : 1 Wrong: 0.33

SA-530 (Fevised) deals with:

Options:

1. #® the auditor's responsibility to plan an audit of financial statements
7. #® "Dpcumentation”

3. % the auditor's responsibility to obtain written representations from management

4. ¢ the auditor's use of statistical and non statistical sampling when designing and selecting the audit sample, performing test and
evaluating the results

Question Number : 66 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following is not an inherent limitation of internal control system?
Options:

1. ¥ Cost of implementation of control may be more than its benefits
2. % The person responsible for exercising control can himself override it

. % Manipulation by high level management may not be detected by control system

Lsd

4. % It is limited only to the extent of accounting & finance

Question Number : 67 Question Type: MCQ
Correct : 1 Wrong: 0.33

For the purpose of removal of auditor before expiry of his term, the company has to obtain an approval of CG by way of an
application to CG within days of passing the board resolution.

Options:
1. % 15

193D
3. % 45
4 % g0



Question Number : 68 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following is not correct with respect to sxtranet?
Options:

1. % Itis an extension of Intranet.

2. % It is most useful for the employees of the organization.

3. ¢ It provides low cost online services.

4. % [t provides inter organization services.

Question Number : 69 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following is not a networl security technique?
Options:

1. % Site Blocking

2. % Data Encryption

3. % Firewall

4. % Data Link

Question Number : 70 Question Type: MCQ
Correct: 1 Wrong: 0.33

Customer relationship management 15 based on the concept that:
Options:
1. % the organization has to mastimize the profits of the customers

2. % the customer is always right

. % every customer has to be treated equally

(W]

I

. % the organization has to provide the services to the high net worth customers on priority

Question Number : 71 Question Type: MCQ
Correct: 1 Wrong: 0.33

Macro enviromment does not deal with:
Options:

1. % Government

2. ¢ Employees

3. # Economic conditions

4. % Political set up

Question Number : 72 Question Type: MCQ
Correct : 1 Wrong: 0.33

Kieretsu is:

Options:

1. % When one supplier forms an association with another supplier to sell products of both business together
2. % WWhen the supplier of one particular good forms a consortium and sets the price of the product

3. # When business is owned by the same family

4. % When the supplier of one particular product allows the other supplier to set the prices of its product with the forces of
demand and supply



Question Number : 73 Question Type: MCQ
Correct: 1 Wrong: 0.33

In a corporate level strategy, the risl involved is relatively
Options:

1. % High

2. % Moderate

3. * Low

4 % Np risk involved

Question Number : 74 Question Type: MCQ
Correct: 1 Wrong: 0.33

An organization 15 dealing in refrigerators diversifies by merging with a business dealing in latchen appliances. This is an example
of

Options:

1. ¥ Horizontal merger
3. % Vertical merger

3. % Co-generic merger

4. ¥ Conglomerate merger

Question Number : 75 Question Type: MCQ
Correct : 1 Wrong: 0.33

With reference to marketing miz, which of the following is not a part of 4 Ps?
Options:
1. # Product

2. % Price
3. % Place

4. % Perfonmance

Mumerical and logical Reasoning questions
Mandatory or Optional: Mandatory

Question Number : 76 Question Type: MCQ
Correct : 1 Wrong: 0.33

Find out the word-pair in which the two words hold the same relationship as the two words in the word-pair given below.

Orange : Apple
Options:

1. % House : Family
2. % Pen: Ink

3. % Tree: Flower

4. % Table - Chair

Question Number : 77 Question Type: MCQ
Correct : 1 Wrong: 0.33



The first two figures on the left side of the sign *::” are related in a certain way. The
same relationship holds for the second pair of figures on the right side of the sign *::’".
of which one is missing. Which of the following is the missing one?

. 0.

O
O

Options:

0

0

. .
B e%
N
y

/ \
\ y
Question Number : 78 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which number will replace the question mark in the number series below?
3.- 4, 13; 38, 7, 168

U4

(]

4 ®

Options:
1. % 63
1. ¥ g7
w77

Ll

4 % 102

Question Number : 79 Question Type: MCQ
Correct : 1 Wrong: 0.33

If 129 of 40% of 3{ = 84, then what 15 the value of 2{7
Options:
1. # 1600

1% 1680



3.9 1750
4 % 1860

Question Number : 80 Question Type: MCQ
Correct: 1 Wrong: 0.33

F is the brother of Q and son of B WV is the sister of T, who 15 the daughter of Q. If R is the husband of 5, then which of the
following is true?

Options:

1. % Vi the granddaughter of 5
2. % Fis the grandfather of Q

3. % S i3 the mother of T

4. % Vi3 the nephew of P

Question Number : 81 Question Type: MCQ
Correct : 1 Wrong: 0.33

Four months are given below out of which three are alilce in some manner and one is different. Which of the given months is
different from the other three?

Options:
1. ¥ QOctober

-

2. % January
3% June
4 % December

Question Number : 82 Question Type: MCQ

Correct : 1 Wrong: 0.33

Four figures are given below out of which three are similar in a certain way and one 15 different. Which 15 of the given figures is
different from the other three?

Options:
Ny N
T~
V

3 W i

4 & ““:.f ?

Question Number : 83 Question Type: MCQ
Correct: 1 Wrong: 0.33



If “+' means ‘=’. ‘=’ means ‘—.‘“—* means ‘<’ and ‘x' means ‘+’. then

(12+4x2)x6-4+2=7
Options:
1.9 17

2 24
17

14

L
¥ u

Question Number : 84 Question Type: MCQ
Correct : 1 Wrong: 0.33

If DAUGHTER' is coded as "SFUIHVBE' in a certain language, then how would 'FROBLERD be coded as in the same language?
Options:
1. % LDKANQO

2. % NFMCPSQ
3. ¥ QSPCMFN
4. % NFMCSPQ

Question Number : 85 Question Type: MCQ
Correct: 1 Wrong: 0.33

Each of the following two rows contains 3 numbers. Some rules are given below to be
used for getting the resultant for each row separately. Apply the rules for each row
from left to right and answer the question.

Rules:

(1) If an even number is followed by an odd but not prime number. both are to be
multiplied.

(1) If an even number is followed by a prime number. both are to be added.

(1i1) If an odd number is followed by a composite odd number. the first number is to be
subtracted from the square of the second number.

(1v) If an odd number is followed by an even number. the odd one is to be subtracted
from the even number.

RowIl: 16, 9, 23
Row II: 13,38, 25

‘What is the difference between the resultants of the first row and the second row?
Options:

1. % 103
® 14

4

% 767
4 ¥ 433

[N ]

Computer Applications
Mandatory or Optional: Mandatory



Question Number : 86 Question Type: MCQ
Correct : 1 Wrong: 0.33

The operating system for mobile phones developed by Google is:
Options:

1. % Amoeba

2. % Nagellan

3. ¢ Android

4. % Ubuntu

Question Number : 87 Question Type: MCQ
Correct : 1 Wrong: 0.33

The CPU of a computer consists of
Options:

1. % ALU, control unit and registers
2. % ALU and control unit

3. % ALU, control unit and hard disk

4. % ALU. control unit and monitor

Question Number : 88 Question Type: MCQ
Correct: 1 Wrong: 0.33

Which of the following is both an mput and an output device?
Options:

1. ® Touch screen

2. % LCD projector panel

3. % Audio cards

4 % Nodem

Question Number : 89 Question Type: MCQ
Correct: 1 Wrong: 0.33

A program in execution is called:
Options:

1. % Process

2. % Instruction

3. #* Procedure

4 # Function

Question Number : 90 Question Type: MCQ
Correct : 1 Wrong: 0.33

Criterion used for judging appropriateness of tool software is:
Options:

1. ¥ Scalability

2. % Compatibility

3. ¢ Functionality

4. ¥ Security

Question Number : 91 Question Type: MCQ



Correct : 1 Wrong: 0.33

Which one of the following decimal number is equivalent to (10000010)2?
Options:

| 13010

, % 20010

4.

. 101010

-
3.

4 % 30410

Question Number : 92 Question Type: MCQ
Correct : 1 Wrong: 0.33

In a spreadsheet, one function inside another is called:
Options:

. % Text

2. % Nested

3. % Sum

4 % Round

Question Number : 93 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following is not a part of the Office Suite?
Options:

1. ¥ Database

2. % Image editor

3. ¥ File manager

4. % Word processor

Question Number : 94 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following is not a Search Engine?
Options:
1. ¥ Yahoo

2% Alta Vista
. % Google
4. % Facebook

L

Question Number : 95 Question Type: MCQ
Correct: 1 Wrong: 0.33

A shared networlc within an organisation to provide connectivity to the staff is called:
Options:
1. % Internet

2% [ntranet
3. % Delnet
4. # Extranet



Mandatory or Optional: Mandatory

Question Number : 96 Question Type: MCQ
Correct: 1 Wrong: 0.33

Which Mughal ruler was on the throne of India when East India company was pertnitted to establish a factory at Surat?
Options:

1. % Aurangzeb

2. % Humayun

3. % Jehangir

4. # Shahjahan

Question Number : 97 Question Type: MCQ
Correct: 1 Wrong: 0.33

Who adwises the centre on legal matters?
Options:
1. ¥ Advocate General of india

7. % President of India

-

3. ¢ Attorney General of India

4 % Chief Justice of India

Question Number : 98 Question Type: MCQ
Correct : 1 Wrong: 0.33

Which of the following payment instruments is known as plastic money?
Options:

1. # Bearer Cheques

2. % Gift Cheques

3. # Demand Drafts

4. % Credit Cards

Question Number : 99 Question Type: MCQ
Correct : 1 Wrong: 0.33

EEG is talen out for diagnosing allments of which of the following?
Options:
1. % Prain

1. % Heart

Lsd

% Lungs

4 % Stomach

Question Number : 100 Question Type: MCQ
Correct: 1 Wrong: 0.33

Prime Minister Marender Modi has recently lmmched the "Give It Up" Campaign for voluntanly grnng up which of the following?
Options:

1. ¥ Drugs

2. % Plastics

. % Ration

[R]



4. % LPG Subsidy



